ERI0FE H—EARFAUNERNZHEE —EX

KERMIFE4RA1B~FERMIIEIAIIBAD (Bfz:A)
# £ &8 # F = NIEEE
L = B & W oH & u = HETE |RECELE| FREE |wxmessn
EAEK =-%- =% CELEEE| RHAEE
THREZRSA MEEAEE | L . , ‘ - 5. K50747 | 6. AW |7 Buvy—ER s Y KiERERE | aft-AFE | FnEr | gsxpesEm
B E & B & g |EAREERp RRERER S MMER 4OERLER Loisx | zEsx | axuss REER |0 ALANEN] wmpumx | cotHE CELE SHEE
YNGR MEE 3T TN
Y ON 4,459, 000 4,459, 000] 2,943, 000 0 1, 300, 000 0 10, 000 200, 000 0 6, 000 0 0 0 0 0
FB A 300, 000 300, 000 198, 000 0 0 100, 000 2, 000 0 0 0 0 0 0 0 0
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